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Note:  

 (i)  The question paper consists of two Sections - Section ‘A’ and Section ‘B’.  

 (ii) All questions in section ‘A’ are compulsory. 

 (iii) Section ‘B’ has two options, Candidates are required to attempt questions from 

one  Option only. 

 (iv) Marks of each question are indicated against it. 
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�	���!�3�	���!�3�	���!�3�	���!�3��������SECTION – A 

��<�� ��=&�>4		�	
������,�&.����%8!�������������������������������������������?�?�?�?�××××@@@@====@A@A@A@A� ��

 Fill in the blanks- 

� ?�A� �	B���+=
�C	D��<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<C	D��

����	�E�	��15�?�	
��
������
���	F�A���

  The term Politics is derived from the word …………….………..…...... (Polis, police, state) 

� ?�A� 8��
�E������&������$	���	�>4		���	F��

�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<�15�?���
�� 	��(
�A�

  Family, as an association, is ……….………………………………to the state. (Prior, later) 

� ?)A� (	=
.$	�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<�
��$GH�8�����&�I�	��15�?�,�%�$	���
(	%$	�A�

  Marxism is a reaction against …………………………..………….(Feudalism, Capitalism) 

� ?JA� 6		�&�(
��K	(.�����
�	&	��	�34	.�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<�15��

� � ?K	(.��	� ����	���
 �K	(	
.���	�
�(	���(	0�3��
�K	(.��	�
�(	�A�

  Secularism in India means ……………………………………………………………………… 

  (Rejection of /respect for all the religions/ respect for ones own religion) 

?@A� 
(	�&	��
�3�K	�	���	�����<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<�$6	
��
(	L&����	��15�

� ?�1�&���
	(	�%����	%���&�A�

  Right to Equality aims at an end to……………………………………………discrimination. 

  (moral/ social/ political) 

��<�� 
����$�7��M���������	8�!����������������������������������������������?�?�?�?�××××@@@@====@A@A@A@A�

 Write the correct option :- 

?�A� 6		�&�(
�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<���		����	�9N(,���������	�E�	��15�

� ?��,%�$	����%(���	����%	�&$	�A�

  The ………………………………………..………system has been abolished all over India. 

  (Capitalist, zamindari, caste) 
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?�A� �
N�����
,M��(
��<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<�$�	��
��(��&���15�

� ?O#��PP��J#A�

  The union List consists of ……………………………………………………………..subjects. 

  (97, 66, 47) 

?)A� �(	�
��
�	�(
�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<�$:	���
��+��	E,���������	�E�	��15� 

� ?8�� 	����	
� 	����6	�������A�

  Financial Emergency has been imposed in our country only ………………………………. 

  (Once, twice, never) 

?JA� (��0(������� 1��	
�����3K��	&	�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<��&	��15��

� ?�	
��
6		�3K��	����K		��(�0����	�+Q��&A�

  The meetings of the cabinet are presided over by the …………………………………….. 

  (Speaker of Lok Sabha / Prime Minister / president) 

?@A� 
$	
.RM�N�	�	����
�N�	�	K	��	�<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<$�	.����3	���(
��

$	��$�:	��	
�%	&
��15�

� ?P"��P���P@A�

  The judges of Supreme Court retire at the age of ………………………………………….. 

  (60, 62, 65) 

��<)� 8��$	=�SC	D��(
��9:	������	8�!�������������������������������������������?�?�?�?�××××@@@@====@A@A@A@A�

 Write answer in one sentence / word - 

?�A� �$K		��
6		��	�
�>�� ��
��
���8�N�,�&(�3	�����&�
�$�	.��15�?�����@��)"A�

  The minimum age for being a member of Vidhan Sabha is ………… years. (21, 25, 30) 

?�A� 9RM�N�	�	����
�N�	�	K	��		
����������=&��	1����&	��1T?�	F��	����	�+Q��&����K		��(�0�A�

  The judges of the High Court are appointed by the ………………………………  

  (Governor, President, Prime Minister) 

?)A� >4		����C	�������	�	
���	�
	(	N���	�.�	����&�
�$�	.��15?&����M	����	�MA�

  Normal tenure of urban local bodies is ……………………….years. (Three, four, five) 

?JA� �
�	����	�U

���
�����
��1T?�	�+Q�����	
0��A�

  National conference is a ……………………………..party. (National, regional) 

?@A� <<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<<(
��%�
���	�(
���>4	�&	�3	�M�����15�?9:	�����
�	���
��A�

  Population has been stabilized in………………………… (Uttar Pradesh / Kerala)  
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��<J� %�(&�������6		�		�����	�
5� ?�A?�A?�A?�A�

 Write the definition of public opinion. 

��<@� 3RV
�C		
�������(��	� 	K		�
���	1��
���1T� ?�A?�A?�A?�A�

 What are the main challenges of good governance? 

��<P� �	F��3	1��
(	%��
� �M�3�&�� &	/�
5� ?�A?�A?�A?�A�

 Explain the difference between state and society. 

��<#� �	%���&��$'	���	�34	.�����	�
5� ?�A?�A?�A?�A�

 Write the meaning of political science. 

��<�� 
��$K		����

���&
��1�T�� ?�A?�A?�A?�A�

 What is the constitution called?  

��<O� 6		�&��
��	�+Q��&�����
&���	
��	
W�&	8������	�
5� ?�A?�A?�A?�A�

 Write two qualifications for president of Indian. 

��<�"� �	�+Q��	F��

�=�	�3	�	���1T� ?)A?)A?)A?)A�

 What is the subject of the state nation? 

��<���&����	�+Q����	%���&����	
���
��	(�����	�
5� ????))))AAAA�

 Write the names of three national political parties. 

��<���(�0�(����

�3	��=�	�
(X&
��1�T� ?)?)?)?)AAAA�

 What do you understand by cabinet? 

��<�)� 6		�&���
��$K		���
���(��	�>0	
&��	1���	1��

��1�T� ?)A?)A?)A?)A�

 Who are the main sources of the Indian Constitution? 

��<�J� �	�+Q��&�����$K		���C	�=&�	
���	
�>��+����%�
5� ?J?J?J?JAAAA�

 Explain the legislative powers of the President.  
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��<�@� �$:	���
��+��
���6		$	
���	�$�	.�����%�
5� ????JJJJAAAA�

 Describe the effects of the financial crisis. 

��<�P�
��	
��(
�� &	/�
����(����	��	
�(&��	
���
����	����6		�$&���&���1T� ????JJJJAAAA�

 Explain in brief how does the media influence public opinion. 

��<�#�
	(	�%��$�3	�4	.��N�	��

�3	��=�	�
(X&
��1�T� ?JA?JA?JA?JA�

 What do you think of social and economic justice?  

34	$	34	$	34	$	34	$	����SSSSOR 

� ��	
��8$���M��
�
��$K		��(
��3�&��>��+����%�
5�

 Define the difference in the harsh and flexible constitution.  

��<���
����	�$	��=�	��1T�
(X	/�
5� ????@@@@AAAA�

 What is communalism? Explain. 

34	$	�34	$	�34	$	�34	$	�SSSSOR 

� 6		�&�(
��3	��	�	����&����MM	.����%�
5��

 Discuss the reservation policy in India. 

��<�O�9�	�$	������$�	
�	&	��
�����	�
5� ????@@@@AAAA�

 Write the specialities of liberalism. 

34	$	�34	$	�34	$	�34	$	�SSSSOR 

� E	�K	�%���
��	(�	F�����3$K		��		��
� 	�
�(
�� &	/�
5�

 Tell us about Gandhiji’s concept of Ramrajya. 

��<�"� 226		�&�3	1���	��>&	���
� �M��$$	���	��	��	���(����1225�=�	�3	��/


�
�(&��1�T�3��
�

�$M	������	�
5� � � ����????@@@@AAAA�

“The reason for the dispute between India and Pakistan is Kashmir”. Do you agree with this? 

Write your thoughts. 

��<��� 6		�&�3	1��M����
� �M��OP���
���H��
��	��		
���	�$�	.�����%�
5� ?@A?@A?@A?@A�

 Describe the causes of the war of 1962 between India and China. 
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�	���!��	���!��	���!��	���!� � � � �����SECTION - B  

?�$�7��!�?�$�7��!�?�$�7��!�?�$�7��!�IAAAA����(Option - I)����

��<��� ?3A� 
����$�7��V	��+�
��!�������������������������������������������������?�?�?�?�××××@Y@A@Y@A@Y@A@Y@A 

  Sort correct options  

� � ?�A� 
���=&��	�+Q����(�	
6		��	�3�K	$
�	���	
&	��1!�

� � � ?3A� �
��
��
�(���	���(
���

� � � ? A� N�,�	�.��
�(���	���(
��

� � � ?
A� %
�
$	��
�(���	���(
���

� � � ?�A� �
E��>4	&�(���	���(
���

   The United Nations General Assembly is auctioned – 

   (A) At the headquarters of Paris  

   (B) At New York’s headquarters  

   (C) In Geneva’s headquarters  

   (D) At Hague’s headquarters  

� � ?�A� 3�&�	.�+Q���N�	�	�����	���>4	&��1�!��

� � � ?3A� �
��
�

� � � ? A� N�,�	�.�

� � � ?
A� %
�
$	�

� � � ?�A� �
E�

   The international court is located here - 

   (A) Paris 

   (B) New York  

   (C) Geneva  

   (D) The Hague  
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� � ?)A� 
���=&��	�+Q��	�
 

�(�;$�,�	.�3�E��1�!�

� � � ?3A� (�	
6		��

� � � ? A� 
���		�����	��

� � � ?
A� 3�&�	.�+Q���N�	�	����

� � � ?�A� N�	
�����	���

   The most important part of the United Nations is- 

   (A) General Assembly   

   (B) Security Council  

   (C) International Court of Justice  

   (D) Trust Council  

� � ?JA� 6		�&�
��=&��	�+Q��	�
�>�� �	�!��

� � � ?3A� 3=+, ���OJ@�

� � � ? A� �$� ���OJ@�

� � � ?
A� ��
� ���OJ@�

� � � ?�A� %�$����OJP�

   India became a member of the United Nations - 

   (A) October 1945 

   (B) November 1945 

   (C) December 1945 

   (D) January 1946 

� � ?@A� 
���		�����	��(
�����	
K		�K	�	����	L&��	�+Q��1!� 

� � � ?3A� 6		�&��

� � � ? A� M����

� � � ?
A� �	��>&	��

� � � ?�A� %	�	���

   The Security Council has a prohibited nation - 

   (A) India  

   (B) China  

   (C) Pakistan  

   (D) Japan  
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��<�)� ? A� 
���%	
��Z�	�� �	/�
���!�����������������������������������������������?�?�?�?�××××@Y@A@Y@A@Y@A@Y@A 

  Make the correct pair -  

    ?�A� � � � � � � � ?�	A� �

 � �<� 
���=&��	�+Q����>4		��	� � � � M	+.��

� � �<� 
���=&��	�+Q���$
� � � � � �	�M�

� � )<� 
���=&��	�+Q��
�3�E�� � � � � �J�3=+, ���

� � J<� 
���		�����	���
�>4		/.�
�>��� � � �OJ@�

� � @<� 
�*	��	��$K		��� � � � � � V��

(A)                                                                        (B) 

  1. The establishment of the United Nations  Charter  

  2. United Nations Day      Five  

  3. United Nations Organ      24th October  

  4. Permanent member of the security council  1945 

  5. Union law        Six   

(Option - II) ?�$�7��!�?�$�7��!�?�$�7��!�?�$�7��!�IIAAAA����

��<�)�
����$�7��V	��+8!����������������������������������������������������?�?�?�?�××××�"�"�"�"====�"�"�"�"AAAA�

 Sort correct options 

� ?�A� 
��	��������		
����[�$>4		�
�M	��&��	
&���1!��

� � ?3A� M��
�E�
����&���K	�	
��\	�	��

� � ? A� (��0�	
��\	�	��

� � ?
A� �
�$��
$
.�+�\	�	��

� � ?�A� 6		�&��
��	
E	
��\	�	��

  The administrative machinery of the government is run by - 

  (A) Elected representatives  

  (B) Ministers  

  (C) Civil servants  

  (D) People of India  
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� ?�A� �
�$��
$
.�+���������=&����
�$	���>$&�0�
�$1K		����8%
�
���1�! 

� � ?3A� �(.M	���M��� 	
�.��

� � ? A� M��	$�3	�	
E��

� � ?
A� �	
%�	�3	�	
E��

� � ?�A� �	
��

$	�3	�	
E��

  An independent constitutional agency to recruit civil servants is known as - 

  (A) Staff Selection Board  

  (B) Election Commission  

  (C) Planning Commission  

  (D) Public Service Commission  

� ?)A� �
�$��
$
.�+����6	&�.��
���8�8��>$&�0�8%
�

�����%G�&��1�=�	
����! 

� � ?3A� ����	
��

$	3	
��(
���	
W�&	�[�$>4		�3	1�������	&	� �	�
���	&���15�

� � ? A� ����	
E	
���
�3�K	�	�	
�������		���&���15�

� � ?
A� ���(��0�	
����3	�	��		3	
������,�&.���&���15�

� � ?�A� ����
�$��
$
.�+���������=&����
�$	�	����K	�	���15�

  An independent agency for recruitment of civil servants is required because - 

  (A) It maintains the merit system and neutrality in civil services. 

  (B) It protects the rights of the people. 

  (C) It serves the aspiration of the ministers. 

  (D) it is an appointing authority of the civil servants. 

� ?JA� �	
��

$	�3	�	
E�8��! 

� � ?3A� 
�$1K		����/�	/.��1�

� � ? A� $1K		����/�	/.��1�

� � ?
A� �	�.�	������	.��\	�	�>4		��&�/�	/.��1�

� � ?�A� /�(
��

��	
/.�������

  Public Service Commission is a - 

  (A) Constitutional body  

  (B) Statutory body  

  (C) Body setup by an executive decision  

  (D) None of these  
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� ?@A� �	
��

$	�3	�	
E��	(���&	��1�! 

� � ?3A� 8��6	&�.�8
%
�
���
�G��(
���

� � ? A� 
6	��
��	��������=&�	
���
�(	(�
�(
��
�	��	��/�	/.��
�G��(
���

� � ?
A� $1K		����/�	/.��1��

� � ?�A� /�(
��

��	
/.������

  Public Service Commission works as - 

  (A) A recruiting agency   

  (B) An appointing authority  

  (C) An advisory body on all government appointments  

  (D) None of these  

?PA� �,��8

���
�3K��	�3	1��
�>�	
���	
�9��
����

��+	�	�%	�
�&	��1�!� 

� � ?3A� (�0������	��\	�	��

� � ? A� �	�+Q��&�\	�	��

� � ?
A� ��K		�(�0��\	�	��

� � ?�A� 
$	
.RM�N�	�	���\	�	��

  The chairman and the members of the UPSC can be removed from their post by the - 

  (A) Council of Ministers  

  (B) President  

  (C) Prime Minister 

  (D) Supreme Court  

?#A� �,��8

���
�$	��	.�����	
+.��	
��
�	����	�6		�&��
��	�+Q��&��	��	��;$��1�! 

� � ?3A� 6		�&��
�
$	
.RM�N�	�	����
�
(�	�

� � ? A� 
�
���
�
(�	�

� � ?
A� 6		�&��
�����0��3	1��(�	�
�		�����	���
�
(�	���

� � ?�A� (�0������	���
�
(�	��

  It is the duty of the President of India to place the annual report of UPSC before - 

  (A) Supreme court of India   

  (B) Parliament  

  (C) Controller and Auditor General of India  

  (D) Council of Ministers  
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?�A� 6		�&���
��$K		����� K		�	� )����
�3�&E.&��	
��

$	�3	�	
E��	
�3�&��=&� �I�	��	��


	1�
�%	�
�&
��1��! 

� � ?3A� �	�+Q��&�\	�	��
� � ? A� ��K		�(�0��\	�	��
� � ?
A� 
�
��\	�	��
� � ?�A� 
$	
.RM�N�	����\	�	���

  Under article 321 of the Indian Constitution additional functions to the Union public 

service commission can be assigned by the - 

  (A) President  

  (B) Prime Minister  

  (C) Parliament  

  (D) Supreme Court  
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  The age limit up to which a member of state PSC may hold his post is - 

  (A) 60 years  

  (B) 62 years  

  (C) 63 years  

  (D) 64 years  
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  The tenure of a member of SPSC is -  

  (A) 4 years  

  (B) 5 years  

  (C) 6 years  

  (D) 7 years  
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 Define Bureaucracy 
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 What are the main functions of the Cabinet Secretariat? 
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 What are the major characteristics of Weber’s model of Bureaucracy? 
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 What is the role of Central Vigilance Commission? 
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 Discuss the organization of the central Secretariat. 
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